# On Asymptotic Lacunary Statistically Equivalent Sequences in Intuitionistic Fuzzy Normed Space

## Shailendra Pandit<sup>1</sup>, Ayaz Ahmad<sup>2</sup>

<sup>1</sup> M.Sc from Indian Institute of technology Bhubaneswar (India)

Ph.D at National Institute of technology Patna (India). Since 2019

<sup>2</sup>M.Sc from Patna University Patna

Ph.D from Aligarh Muslim University Aligarh.

#### Abstract

In this article, we have studied asymptotic equivalent, asymptotic statistically equivalent, strongly asymptotic statistically equivalent, asymptotic lacunary statistically equivalent of multiple  $\lambda$  with respect to Intuitionistic fuzzy normed space. In addition, we have proved some theorems on asymptotic lacunary equivalent and strongly asymptotic lacunary sequence has been defined and some results over it were examined.

Keywords: Asymptotic equivalence, Lacunary sequence, Lacunary refinement,  $\theta$ -density, Intuitionistic fuzzy normed space.

## 1 Introduction

The notion of statistical convergence has been given by both Fast [1] in 1951 and Fridy[3] in 1985, independently. which emerged as a useful tool in dealing with such numerical problems where the idea of ordinary convergence fails to serve the purpose of study, by the idea of the natural density. Later, the concept was studied by several authors in their own ways and was generalized it to some different kinds of spaces. Kostyrko [14] generalised the statistical convergence to ideal convergence, Salat and Tripathy[15] studied some properties of ideal convergence. Further Das and Kostyrko [16] investigate the notion of I-convergence and I\*-convergence. Later, the concept and extended it to different spaces. Some authors [5, 8] studied the idea in intuitionistic fuzzy normed spaces, which was first studied by Saadati and Park[18] as a generalization of fuzzy metric space in 2006. The Fuzzy metric space was studied by Karmosil[17] as a generalised form of fuzzy set theory, which is being used not only in different branches of mathematics, such as the theory of functions [10, 11], theory of approximation [12] etc, but also in quantum particle physics[13].

A number of developments in statistical convergence and its generalisation to different spaces have been made by different authors in recent years. Patterson [6] evaluated some results on asymptotically statistically equivalent sequences in 2003. Patterson and Savas[7] again presented their work on asymptotically lacunary in 2006 statistically equivalent sequences. The same idea was studied and extended by Ulusu and F. Nuray [9] to the set of sequences (in Wijsman's sense). They published their work on asymptotically lacunary statistical equivalent set sequences in 2013.

We have now investigated the asymptotic statistically equivalence sequences, asymptotic lacunary equivalence sequences, and strong asymptotic lacunary equivalent sequences in intuitionistic fuzzy normed space. Throughout this article, X stands for linear space, N stands for the set of natural integers, and  $\lambda$  is a real number.

The work is divided into three sections. Section 1 contains an introduction part, Section 2 contains the basic definitions and results that are needed in the work. Section 3 contains the main definitions and results, which we have studied

## 2. Basics and Preliminaries

**Definition 2.1.** [5] A 5-tuple object  $(X, \alpha, \beta, *, o)$  where X is linear space, \* is continuous t-norm, o is continuous t-conorm and  $\alpha, \beta$  are fuzzy sets on  $X \times (0, \infty)$ , is said to be Intuitionistic fuzy normed space (abbreviated as IFNS) if for every  $x, y \in X$  and  $\mu, \xi \in (0, \infty)$  it fulfils the following subsequent requirements.

(i)  $0 < \alpha(x, \mu) + \beta(x, \mu) \le 1$ 

Copyrights @Kalahari Journals

International Journal of Mechanical Engineering 7218

(ii)  $\alpha(x,\mu) \ge 0$ (iii)  $\alpha(cx, \mu) = \alpha\left(x, \frac{\mu}{|c|}\right)$  for all  $c \neq 0$ (iv)  $\alpha(x,\mu) = 1$  iff x = 0(v)  $\alpha(x+x_1, \mu+\xi) \ge \alpha(x, \mu) \ast \alpha(x_1, \xi)$ (vi)  $\alpha(x, \mu): (0, \infty) \rightarrow [0, 1]$  is a continuous function of  $\mu$ (vii)  $\lim_{\mu \to \infty} \alpha(x, \mu) = 1$  and  $\lim_{\mu \to 0} \alpha(x, \mu) = 0$ (viii)  $\beta(x, \mu) < 1$ (ix)  $\beta(cx, \mu) = \alpha\left(x, \frac{\mu}{|c|}\right)$  for all  $c \neq 0$ (x)  $\beta(x, \mu) = 1$  iff x = 0(xi)  $\beta(x+x_1, \mu+\xi) \leq \alpha(x, \mu) \circ \alpha(x_1, \xi)$ (xii)  $\beta(x, \mu): (0, \infty) \rightarrow [0, 1]$  is a continuous function of  $\mu$ (xiii)  $\lim_{\mu\to\infty} \beta(x,\mu) = 0$  and  $\lim_{\mu\to0} \beta(x,\mu) = 1$ doublet  $(\alpha, \beta)$  defines Inuitionistic fuzzy norm (abbreviated as IFN)  $(\alpha, \beta) =$ The and given by,

The doublet  $(\alpha, \beta)$  defines Inuitionistic fuzzy norm (abbreviated as IFN) and given by,  $(\alpha, \beta) = \{(x, y): \alpha(x, \mu), \beta(x, \mu): x \in X\}$ 

**Definition 2.2.** A sequence  $[x] = (x_r)$  of elements of IFNS  $(X, \alpha, \beta, *, o)$  is said to be converges to a number l, if there exist  $r_0 \in N$  such that for all  $r \ge r_0$ , and  $\mu \in (0, \infty)$  we have  $1 - \alpha(x_r - l, \mu) < \varepsilon$  and  $\beta(x_r - l, \mu) < \varepsilon$  for every  $0 < \varepsilon < 1$ 

**Definition 2.3.** Two sequences  $[x] = (x_r)$  and  $[y] = (y_r)$  of non-negative terms of IFNS  $(X, \alpha, \beta, *, o)$  are said to be asymptotically equivalent of multiple  $\lambda$  with respect to IFN  $(\alpha, \beta)$  if there exist some positive integer  $r_0$  such that for all

$$0 < \varepsilon < 1$$
 and  $\mu > 0$  we have,  $1 - \alpha \left( \frac{x_r}{y_r} - \lambda, \mu \right) < \varepsilon$  and  $\beta \left( \frac{x_r}{y_r} - \lambda, \mu \right) < \varepsilon$ , for all  $r \ge r_0$ 

Symbollically, we state it by,  $[x] \square [y]$ .

The two sequences are said to be simply asymptotically equivalent if  $\lambda = 1$ 

**Definition 2.4.** Two sequences  $[x] = (x_r)$  and  $[y] = (y_r)$  of non-negative terms of IFNS  $(X, \alpha, \beta, *, o)$  are said to be asymptotic statically equivalent of multiple  $\lambda$  with respect to IFN  $(\alpha, \beta)$  if for all  $0 < \varepsilon < 1$  and  $\mu > 0$  we have,

$$\delta\left\{k\in\Box:1-\alpha\left(\frac{x_k}{y_k}-\lambda,\mu\right)\geq\varepsilon \text{ or } \beta\left(\frac{x_k}{y_k}-\lambda,\mu\right)\geq\varepsilon\right\}=0$$

Symbolically, we state it by,  $[x] \stackrel{S_{\lambda}}{\sim} [y].$ 

The two sequences are said to be simply asymptotic statistically equivalent if  $\lambda = 1$ 

Copyrights @Kalahari Journals

International Journal of Mechanical Engineering

**Remark 1.**  $\delta(A)$  denotes the natural density of set A (See [3]), defined by  $\delta(A) = \lim_{n \to \infty} \frac{|A|}{n}$  where |A| gives the cardinality of the set A

**Definition 2.5** [9] A lacunary sequence  $\theta = (u_k)$  is sequence of non-negative integers such that  $u_0 = 0$ ,  $h_k = u_k - u_{k-1} \to \infty$ as  $k \to \infty$ , throughout the paper we denote  $q_k = \frac{u_k}{u_{k-1}}$  and  $I_k = (u_{k-1}, u_k]$ 

**Definition 2.6.** [2] A lacunary sequence  $\sigma = \{v_r\}$  of non-negative integers is called refinement of lacunary sequence  $\theta = \{u_r\}$  if  $\{u_r\} \subseteq \{v_r\}$ 

**Definition 2.7** [8] A sequence  $(x_r)$  of the terms of IFNS  $(X, \alpha, \beta, *, o)$  said to be lacunary statistically convergent to l with respect to IFN  $(\alpha, \beta)$  if for all  $0 < \varepsilon < 1$  and  $\mu > 0$  we have,  $\delta_{\theta} \{k : 1 - \alpha(x_k - l, \mu) \ge \varepsilon \text{ or } \beta(x_k - l, \mu) \ge \varepsilon \} = 0$ 

## 3. Main Results

**Definition 3.1.** Two sequences  $[x] = (x_r)$  and  $[y] = (y_r)$  of non-negative terms of IFNS  $(X, \alpha, \beta, *, o)$  are said to be asymptotic lacunary statistically equivalent of multiple  $\lambda$  with respect to IFN  $(\alpha, \beta)$  if for all  $0 < \varepsilon < 1$  and  $\mu > 0$  we have,

$$\delta_{\theta}\left\{k: 1-\alpha\left(\frac{x_{k}}{y_{k}}-\lambda, \mu\right) \geq \varepsilon \text{ or } \beta\left(\frac{x_{k}}{y_{k}}-\lambda, \mu\right) \geq \varepsilon\right\} = 0$$

Symbollically, we state it by,  $(lpha, eta) - [x] \stackrel{S^{\lambda}}{\sim} [y].$ 

The two sequences are said to be simply asymptotic lacunary statistically equivalent if  $\lambda = 1$ 

**Remark 2.**  $\delta_{\theta}(A)$  denotes the lacunary natural density  $(\theta - \text{density})$  of set A (See [4]), defined by  $\delta_{\theta}(A) = \lim_{k \to \infty} |\{q \in N : q \in I_k \cap A\}|$  where vertical bar gives the cardinality of the set A

**Definition 3.2.** Two sequences  $[x] = (x_r)$  and  $[y] = (y_r)$  of non-negative terms of IFNS  $(X, \alpha, \beta, *, o)$  are said to be strongly asymptotic statistically equivalent of multiple  $\lambda$  with respect to IFN  $(\alpha, \beta)$  if for all  $0 < \varepsilon < 1$  and  $\mu > 0$  we have,

$$\lim_{n\to\infty} \frac{1}{n} \sum_{k\geq 1}^{n} \alpha \left( \frac{x_k}{y_k} - \lambda, \mu \right) = 1 \quad \text{and} \quad \lim_{n\to\infty} \frac{1}{n} \sum_{k\geq 1}^{n} \beta \left( \frac{x_k}{y_k} - \lambda, \mu \right) = 0. \quad \text{Symbolically, we state it by,}$$
$$(\alpha, \beta) - [x] \stackrel{N_{\lambda}}{\sim} [y].$$

The two sequences are said to be simply asymptotic lacunary statistically equivalent if  $\lambda = 1$ 

**Example 3.1.** Let the two sequence [x] and [y] are defined on IFNS  $(\Box, \alpha, \beta, *, o)$ , defined by  $[x] = (x_k) = Area of a circle$ 

of radius k unit and 
$$[y] = (y_k) = k^2 e^{\frac{1}{k}}$$
. Let us define  $\alpha \left(\frac{x_k}{y_k} - \lambda, \mu\right) = \frac{\mu - 2^{-k}}{\mu + \left|\frac{x_k}{y_k} - \lambda\right|}$  and  $\beta \left(\frac{x_k}{y_k} - \lambda, \mu\right) = \frac{\left|\frac{x_k}{y_k} - \lambda\right|}{\mu + \left|\frac{x_k}{y_k} - \lambda\right|}$ .

Also,  $a * b = \min\{a, b\}$  and  $aob = \max\{a, b\}$ . Then we have  $(\alpha, \beta) - [x] \sim [y]$ 

*Proof.* 
$$\lim_{n \to \infty} \sum_{k \ge 1}^{n} \alpha \left( \frac{x_k}{y_k} - \pi, \mu \right) = \lim_{n \to \infty} \frac{1}{n} \sum_{k \ge 1} \frac{\mu - 2^{-k}}{\mu + \left| \pi e^{-\frac{1}{k}} - \pi \right|} = \lim_{n \to \infty} \frac{1}{n} \sum_{k \ge 1} \frac{\mu - 2^{-k}}{\mu + \pi \left| e^{-\frac{1}{k}} - 1 \right|}$$

Copyrights @Kalahari Journals

International Journal of Mechanical Engineering 7220 Vol. 7 No. 1 (January, 2022)

I

$$= \lim_{n \to \infty} \frac{1}{n} \sum_{k \ge 1}^{k_0} \frac{\mu - 2^{-k}}{\mu + \pi \left| e^{-\frac{1}{k}} - 1 \right|} + \lim_{n \to \infty} \frac{1}{n} \sum_{k \ge k_0}^{n} \frac{\mu - 2^{-k}}{\mu + \pi \left| e^{-\frac{1}{k}} - 1 \right|} = \lim_{n \to \infty} \frac{1}{n} \sum_{k \ge 1}^{k_0} (\text{finite}) + \lim_{n \to \infty} \frac{1}{n} \sum_{k \ge k_0}^{n} (n - k_0) = 0 + \lim_{n \to \infty} \frac{n - k_0}{n} = 1$$
(Since we have a positive integer  $k_0$  such that  $\frac{1}{2^k} \approx 0$  and  $e^{-\frac{1}{k}} \approx 1$  for all  $k \ge k_0$ )

Also,

$$\lim_{n \to \infty} \frac{1}{n} \sum_{k \ge 1}^{n} \beta \left( \frac{x_{k}}{y_{k}} - \pi, \mu \right) = \lim_{n \to \infty} \frac{1}{n} \sum_{k=1}^{n} \frac{\pi \left| e^{-\frac{1}{k}} - 1 \right|}{\mu + \pi \left| e^{-\frac{1}{k}} - 1 \right|} = \lim_{n \to \infty} \frac{1}{n} \sum_{k=1}^{k_{0}} \frac{\pi \left| e^{-\frac{1}{k}} - 1 \right|}{\mu + \pi \left| e^{-\frac{1}{k}} - 1 \right|} + \lim_{n \to \infty} \frac{1}{n} \sum_{k=k_{0}}^{n} \frac{\pi \left| e^{-\frac{1}{k}} - 1 \right|}{\mu + \pi \left| e^{-\frac{1}{k}} - 1 \right|} = \lim_{n \to \infty} \frac{1}{n} \sum_{k=1}^{k_{0}} \frac{\pi \left| e^{-\frac{1}{k}} - 1 \right|}{\mu + \pi \left| e^{-\frac{1}{k}} - 1 \right|} = \lim_{n \to \infty} \frac{1}{n} \sum_{k=1}^{k_{0}} \frac{\pi \left| e^{-\frac{1}{k}} - 1 \right|}{\mu + \pi \left| e^{-\frac{1}{k}} - 1 \right|} = \lim_{n \to \infty} \frac{1}{n} \sum_{k=1}^{k_{0}} \frac{\pi \left| e^{-\frac{1}{k}} - 1 \right|}{\mu + \pi \left| e^{-\frac{1}{k}} - 1 \right|} = \lim_{n \to \infty} \frac{1}{n} \sum_{k=1}^{k_{0}} \frac{\pi \left| e^{-\frac{1}{k}} - 1 \right|}{\mu + \pi \left| e^{-\frac{1}{k}} - 1 \right|} = \lim_{n \to \infty} \frac{1}{n} \sum_{k=1}^{k_{0}} \frac{\pi \left| e^{-\frac{1}{k}} - 1 \right|}{\mu + \pi \left| e^{-\frac{1}{k}} - 1 \right|} = \lim_{n \to \infty} \frac{1}{n} \sum_{k=1}^{k_{0}} \frac{\pi \left| e^{-\frac{1}{k}} - 1 \right|}{\mu + \pi \left| e^{-\frac{1}{k}} - 1 \right|} = \lim_{n \to \infty} \frac{\pi \left| e^{-\frac{1}{k}} - 1 \right|}{\mu + \pi \left| e^{-\frac{1}{k}} - 1 \right|} = \lim_{n \to \infty} \frac{\pi \left| e^{-\frac{1}{k}} - 1 \right|}{\mu + \pi \left| e^{-\frac{1}{k}} - 1 \right|} = \lim_{n \to \infty} \frac{\pi \left| e^{-\frac{1}{k}} - 1 \right|}{\mu + \pi \left| e^{-\frac{1}{k}} - 1 \right|}$$

**Definition 3.3.** Let  $\theta = (u_r)$  be a lacunary sequence. The two sequences  $x = [x_r]$  and  $y = [y_r]$  of non-negative terms of IFNS  $(X, \alpha, \beta, *, o)$  are said to be strongly asymptotic lacunary satisfically equivalent of multiple  $\lambda$  with respect to IFN  $(\alpha, \beta) = 1$ .

$$(\alpha, \beta)$$
 if for all  $0 < \varepsilon < 1$  and  $\mu > 0$  we have,  $\lim_{r \to \infty} \frac{1}{h_r} \sum_{k \in I_r} \alpha \left( \frac{x_k}{y_k} - \lambda, \mu \right) = 1$  and  
 $\lim_{r \to \infty} \frac{1}{r} \sum_{k \in I_r} \alpha \left( \frac{x_k}{y_k} - \lambda, \mu \right) = 0$ 

$$\lim_{r\to\infty}\frac{1}{h_r}\sum_{k\in I_r}\beta\left(\frac{x_k}{y_k}-\lambda,\mu\right)=0$$

Symbolically, we denote it by,  $(lpha,eta)-[x]\stackrel{N^\lambda_ heta}{\sim}[y].$ 

The two sequence are said to be simply asymptotic lacunary equivalent if  $\lambda = 1$ 

**Example 3.2.** Let the two sequence [x] and [y] are defined on IFNS  $(\Box, \alpha, \beta, *, o)$ , defined by

$$[x] = x_{k} = \begin{cases} k^{3}: & u_{r-1} < k \le u_{r-1} + \left[\sqrt{h_{r}}\right] \\ \pi k^{2}: & \text{otherwise} \end{cases}$$

$$\text{and } [y] = y_{k} = k^{2}: & u_{r-1} < k \le u_{r} \end{cases}$$

$$\text{Where } \left[\sqrt{h_{r}}\right] \quad \text{denotes greatest integral value below } \sqrt{h_{r}} \cdot \text{Define } \alpha(x-y,\mu) = \frac{\mu}{\mu+|x-y|} \quad \text{and} \end{cases}$$

$$\beta(x-y,\mu) = \frac{|x-y|}{\mu+|x-y|} \cdot \text{Also, } a \ast b = \min\{a,b\} \text{ and } a \circ b = \max\{a,b\}$$

$$\text{Then we have } (\alpha,\beta) - [x] \overset{N_{\theta}^{\pi}}{\sim} [y].$$

$$\text{Proof. } \lim_{r \to \infty} \frac{1}{h_{r}} \sum_{k \in I_{r}} \alpha\left(\frac{x_{k}}{y_{k}} - \pi, \mu\right) = \lim_{r \to \infty} \sum_{u_{r-1} < k \le u_{r-1} + \left[\sqrt{h_{r}}\right]} \alpha\left(\frac{x_{k}}{y_{k}} - \pi, \mu\right) +$$

Copyrights @Kalahari Journals

International Journal of Mechanical Engineering 7221

$$\lim_{r \to \infty} \frac{1}{h_r} \sum_{u_{r-1} + \left[\sqrt{h_r}\right] \le k \le u_r} \alpha \left(\frac{x_k}{y_k} - \pi, \mu\right) = \lim_{n \to \infty} \frac{1}{h_r} \sum_{u_{r-1} \le k \le u_{r-1} + \left[\sqrt{h_r}\right]} \frac{\mu}{\mu + \left|\frac{k^3}{k^2} - \pi\right|} + \lim_{r \to \infty} \frac{1}{h_r} \sum_{u_{r-1} + \left[\sqrt{h_r}\right] \le k \le u_r} \frac{\mu}{\mu + \left|\frac{\pi k^2}{k^2} - \pi\right|} \le \lim_{r \to \infty} \frac{\left[\sqrt{h_r}\right]}{h_r} + \lim_{r \to \infty} \frac{u_r - u_{r-1} - \left[\sqrt{h_r}\right]}{h_r}$$
$$= \lim_{r \to \infty} \frac{\left[\sqrt{h_r}\right]}{h_r} + \lim_{r \to \infty} \left(1 - \frac{\left[\sqrt{h_r}\right]}{h_r}\right) = 1.$$

Also,

$$\lim_{r \to \infty} \frac{1}{h_r} \sum_{k \in I_r} \beta \left( \frac{x_k}{y_k} - \pi, \mu \right) = \lim_{r \to \infty} \frac{1}{h_r} \sum_{k \in I_r} \left[ 1 - \alpha \left( \frac{x_k}{y_k} - \pi, \mu \right) \right] = 1 - \lim_{r \to \infty} \frac{1}{h_r} \sum_{k \in I_r} \alpha \left( \frac{x_k}{y_k} - \pi, \mu \right) = 1 - 1 = 0. \text{ Which gives } (\alpha, \beta) - [x] \overset{N_{\theta}^{\pi}}{\sim} [y].$$

**Lemma 3.4.** If  $\theta = (u_r)$  be a lacunary sequence,  $[x] = (x_r)$  and  $[y] = (y_r)$  are two sequences of non-negative terms of IFNS  $(X, \alpha, \beta, *, o)$  then following are equivalent.

(i) 
$$(\alpha, \beta) - [x] \overset{N_{\theta}^{\pi}}{\sim} [y].$$
  
(ii)  $\delta_{\theta} \left\{ k \in \Box : 1 - \alpha \left( \frac{x_{k}}{y_{k}} - \lambda, \mu \right) \ge \varepsilon \right\} = \delta_{\theta} \left\{ k \in \Box : \beta \left( \frac{x_{k}}{y_{k}} - \lambda, \mu \right) \ge \varepsilon \right\} = 0.$   
(iii)  $\delta_{\theta} \left\{ k \in \Box : 1 - \alpha \left( \frac{x_{k}}{y_{k}} - \lambda, \mu \right) < \varepsilon \right\} = \delta_{\theta} \left\{ k \in \Box : \beta \left( \frac{x_{k}}{y_{k}} - \lambda, \mu \right) < \varepsilon \right\} = 1.$ 

**Theorem 3.5.**  $\theta = (u_r)$  be a lacunary sequence.  $[x] = (x_r)$  and  $[y] = (y_r)$  are two sequences of non-negative terms of IFNS  $(X, \alpha, \beta, *, o)$  then following are equivalent.

(i) 
$$(\alpha, \beta) - [x] \stackrel{N_{\theta}^{\lambda}}{\sim} [y].$$
  
(ii)  $(\alpha, \beta) - [x] \stackrel{N_{\theta}^{\lambda}}{\sim} [y].$   
Proof. (i)  $\rightarrow$  (ii)  
 $(\alpha, \beta) - [x] \stackrel{N_{\theta}^{\lambda}}{\sim} [y].$  For every  $0 < \varepsilon < 1$  and  $\mu > 0$  we have  
 $\lim_{k \to \infty} \frac{1}{h_k} \sum_{p \in I_k} \alpha \left( \frac{x_p}{y_p} - \lambda, \mu \right) = 1$  and  $\lim_{k \to \infty} \frac{1}{h_k} \sum_{p \in I_k} \beta \left( \frac{x_p}{y_p} - \lambda, \mu \right) = 0$   
 $\Rightarrow \lim_{k \to \infty} \frac{1}{h_k} \sum_{p \in I_k} \left\{ 1 - \alpha \left( \frac{x_p}{y_p} - \lambda, \mu \right) \right\} = 0$ 

Now we have

Copyrights @Kalahari Journals

International Journal of Mechanical Engineering 7222

$$\Rightarrow \lim_{k \to \infty} \frac{1}{h_k} \sum_{p \in I_k} \left\{ 1 - \alpha \left( \frac{x_p}{y_p} - \lambda, \mu \right) \right\} \ge \lim_{k \to \infty} \frac{1}{h_k} \sum_{\alpha \left( \frac{x_p}{y_p} - \lambda, \mu \right) \le 1 - \epsilon} \left\{ 1 - \alpha \left( \frac{x_p}{y_p} - \lambda, \mu \right) \right\}$$
$$\ge \lim_{k \to \infty} \frac{\epsilon}{h_k} \left| \left\{ k : 1 - \alpha \left( \frac{x_k}{y_k} - \lambda, \mu \right) \ge \epsilon \text{ or } \beta \left( \frac{x_k}{y_k} - \lambda, \mu \right) \ge \epsilon \right\} \right|$$
$$\Rightarrow \delta_{\theta} \left\{ k : 1 - \alpha \left( \frac{x_k}{y_k} - \lambda, \mu \right) \ge \epsilon \text{ or } \beta \left( \frac{x_k}{y_k} - \lambda, \mu \right) \ge \epsilon \right\} = 0$$
Now, (ii)  $\rightarrow$  (i)

 $(\alpha, \beta) - [x] \stackrel{S_{\theta}^{\lambda}}{\sim} [y]. \text{ For every } 0 < \epsilon < 1 \text{ and } \mu > 0 \text{ we have}$  $\delta_{\theta} \left\{ k : 1 - \alpha \left( \frac{x_k}{y_k} - \lambda, \mu \right) \ge \epsilon \text{ or } B \left( \frac{x_k}{y_k} - \lambda, \mu \right) \ge \epsilon \right\} = 0$ 

Now

$$\frac{1}{h_k} \sum_{p \in I_k} \left\{ 1 - \alpha \left( \frac{x_p}{y_p} - \lambda, \mu \right) \right\} = \frac{1}{h_k} \sum_{\alpha \left( \frac{x_p}{y_p} - \lambda, \mu \right) \leq 1 - \varepsilon} \left\{ 1 - \alpha \left( \frac{x_p}{y_p} - \lambda, \mu \right) \right\} + \frac{1}{h_k} \sum_{\alpha \left( \frac{x_p}{y_p} - \lambda, \mu \right) > 1 - \varepsilon} \left\{ 1 - \alpha \left( \frac{x_p}{y_p} - \lambda, \mu \right) \right\} \leq \frac{1}{h_k} \left| \left\{ k : 1 - \alpha \left( \frac{x_k}{y_k} - \lambda, \mu \right) \geq \varepsilon \right\} \right| + \varepsilon$$

By lemma 3.1, we get

$$\lim_{k\to\infty}\frac{1}{h_k}\sum_{p\in I_k}\left\{1-\alpha\left(\frac{x_p}{y_p}-\lambda,\mu\right)\right\}\leq \lim_{k\to\infty}\frac{1}{h_k}\left|\left\{k:1-\alpha\left(\frac{x_k}{y_k}-\lambda,\mu\right)\geq\varepsilon \text{ or }\beta\left(\frac{x_k}{y_k}-\lambda,\mu\right)\geq\varepsilon\right\}\right|+\varepsilon$$

Since  $\varepsilon$  was arbitrary, thus theorem is established.

**Theorem 3.6.** Let  $\theta = \{u_r\}$  is a lacunary sequence and  $\sigma = \{v_r\}$ , be refinement of  $\theta = \{v_r\}$ , if  $[x] = (x_r)$  and  $[y] = (y_r)$  are two sequences defined on IFNS  $(X, \alpha, \beta, *, o)$  then

$$(\alpha,\beta)-[x] \stackrel{S_{\alpha}^{*}}{\sim} [y]. \implies (\alpha,\beta)-[x] \stackrel{S_{\alpha}^{*}}{\sim} [y].$$

$$Proof. Let (\alpha,\beta)-[x] \stackrel{S_{\alpha}^{*}}{\sim} [y] \text{ holds, thus we have}$$

$$S_{\sigma} \left\{ k \in \Box : 1-\alpha \left(\frac{x_{k}}{y_{k}}-\lambda,\mu\right) \ge \varepsilon \text{ or } \beta \left(\frac{x_{k}}{y_{k}}-\lambda,\mu\right) \ge \varepsilon \right\} = 0.$$

$$\lim_{r \to \infty} \frac{1}{h_{r}^{'}} \left| \left\{ k \in I_{r}^{'}: 1-\alpha \left(\frac{x_{k}}{y_{k}}-\lambda,\mu\right) \ge \varepsilon \text{ or } \beta \left(\frac{x_{k}}{y_{k}}-\lambda,\mu\right) \ge \varepsilon \right\} \right| = 0. \text{ Where } h_{r}^{'} = v_{r} - v_{r-1} \text{ and } I_{r}^{'} = (v_{r-1},v_{r}]. \text{ Now}$$

$$|et I_{r} \text{ of } \theta \text{ contains the interval } I_{r,i}^{'} i = 1, 2, 3, \dots, n \text{ such that } I_{r} = \bigcup_{i=1}^{n} I_{r,i}^{'} \text{ where}$$

$$I_{r,1}^{'} = (u_{r-1,0} \ u_{r,1}], I_{r,2}^{'} = (u_{r,1} \ u_{r,2}], I_{r,n}^{'} = (u_{r,n-1} \ u_{r,n}], u_{r-1,0} = u_{r-1}, \text{ and } u_{r-1,n} = u_{r} \ u_{r,1} \text{ is first integer after } u_{r-1} \text{ in the interval } I_{r}^{'} \text{ of } \theta. \text{ Now}$$

$$\lim_{r \to \infty} \frac{1}{h_r} \left| \left\{ k \in I_r : 1 - \alpha \left( \frac{x_k}{y_k} - \lambda, \mu \right) \ge \varepsilon \text{ or } \beta \left( \frac{x_k}{y_k} - \lambda, \mu \right) \ge \varepsilon \right\} \right| = \lim_{r \to \infty} \sum_{j=1}^n h_{rj} \frac{1}{h_{rj}} \left| \left\{ k \in I_r : 1 - \alpha \left( \frac{x_k}{y_k} - \lambda, \mu \right) \ge \varepsilon \right) \right| = \lim_{r \to \infty} \sum_{j=1}^n h_{rj} \frac{1}{h_{rj}} \left| \left\{ k \in I_r : 1 - \alpha \left( \frac{x_k}{y_k} - \lambda, \mu \right) \ge \varepsilon \right) \right| = \lim_{r \to \infty} \sum_{j=1}^n h_{rj} \frac{1}{h_{rj}} \left| \left\{ k \in I_r : 1 - \alpha \left( \frac{x_k}{y_k} - \lambda, \mu \right) \ge \varepsilon \right\} \right|$$

Copyrights @Kalahari Journals

International Journal of Mechanical Engineering

$$\begin{aligned} I_{rj} : 1 - \alpha \left( \frac{x_k}{y_k} - \lambda, \mu \right) &\geq \varepsilon \text{ or } \beta \left( \frac{x_k}{y_k} - \lambda, \mu \right) \geq \varepsilon \right\} \\ = \lim_{r \to \infty} \frac{1}{h_r} \sum_{j=1}^n h_{rj} t_{rj} = \lim_{r \to \infty} \sum_{j=1}^n \frac{h_{rj}}{h_r} t_{rj} \end{aligned}$$

$$Where, \sum_{j=1}^n \frac{h_{rj}}{h_r} = 1 \text{ and } t_{rj} = \frac{1}{h_{rj}} \left| \left\{ k \in I_{rj} : 1 - \alpha \left( \frac{x_k}{y_k} - \lambda, \mu \right) \geq \varepsilon \text{ or } \beta \left( \frac{x_k}{y_k} - \lambda, \mu \right) \geq \varepsilon \right\} \right|$$

Note that;  $h_{rj} \to \infty$  as  $r \to \infty$ ,  $\forall j$ 

Let. 
$$\lim_{r\to\infty} t_{rj} = \frac{1}{h_{rj}} \left| \left\{ k \in I_{rj} : 1 - \alpha \left( \frac{x_k}{y_k} - \lambda, \mu \right) \ge \varepsilon \text{ or } \beta \left( \frac{x_k}{y_k} - \lambda, \mu \right) \ge \varepsilon \right\} \right| < \varepsilon_j \text{ where } \varepsilon_j \text{ is }$$

Sufficiently small for all *j*. Now choose  $\varepsilon = \max_{1 \le j \le n} \{\varepsilon_j\}$ . Now we have,

$$\lim_{r \to \infty} \frac{1}{h_r} \left| \left\{ k \in I_r : 1 - \alpha \left( \frac{x_k}{y_k} - \lambda, \mu \right) \ge \varepsilon \text{ or } \beta \left( \frac{x_k}{y_k} - \lambda, \mu \right) \ge \varepsilon \right\} \right|$$
$$= \lim_{r \to \infty} \frac{1}{h_r} \sum_{j=1}^n h_{rj} \varepsilon_j \le \lim_{r \to \infty} \frac{1}{h_r} \sum_{j=1}^n h_{rj} \varepsilon = \varepsilon \lim_{r \to \infty} \sum_{j=1}^n \frac{h_{rj}}{h_r} = \varepsilon \text{ where } \varepsilon \to 0$$

Thus we obtained,

$$\lim_{r\to\infty}\frac{1}{h_r}\left|\left\{k\in I_r:1-\alpha\left(\frac{x_k}{y_k}-\lambda,\mu\right)\geq\varepsilon \text{ or }\beta\left(\frac{x_k}{y_k}-\lambda,\mu\right)\geq\varepsilon\right\}\right|<\varepsilon$$

Hence theorem is established.

**Theorem 3.7.** Let  $\sigma = \{v_r\}$  is a lacunary refinement of lacunary sequence  $\theta = \{u_r\}$ . Also  $[x] = (x_r)$  and  $[y] = (y_r)$  be two sequences of non-negative terms of IFNS  $(X, \alpha, \beta, *, o)$ . If there exist q > 0 such that  $\frac{h'_r}{h_r} \ge q$  for every  $I'_r \subseteq I_r$ . Where  $I_r = (u_{r-1}, u_r]$  and  $I'_r = (v_{r-1}, v_r]$  then  $(\alpha, \beta) - [x] \stackrel{S^{\lambda}}{\sim} [y] \implies (\alpha, \beta) - [x] \stackrel{S^{\lambda}}{\sim} [y]$ 

*Proof.* For all  $0 < \epsilon < 1$  and  $\mu > 0$ . We have

$$S_{\theta}\left\{k \in \Box : 1-\alpha\left(\frac{x_{k}}{y_{k}}-\lambda,\mu\right) \ge \varepsilon \text{ or } \beta\left(\frac{x_{k}}{y_{k}}-\lambda,\mu\right) \ge \varepsilon\right\} = 0. \text{ Which implies}$$

$$\lim_{r \to \infty} \frac{1}{h_{r}} \left|\left\{k \in I_{r} : 1-\alpha\left(\frac{x_{k}}{y_{k}}-\lambda,\mu\right) \ge \varepsilon \text{ or } \beta\left(\frac{x_{k}}{y_{k}}-\lambda,\mu\right) \ge \varepsilon\right\}\right| = 0. \text{ We now have}$$

$$\lim_{r \to \infty} \frac{1}{h_{r}} \left|\left\{k \in I_{r} : 1-\alpha\left(\frac{x_{k}}{y_{k}}-\lambda,\mu\right) \ge \varepsilon \text{ or } \beta\left(\frac{x_{k}}{y_{k}}-\lambda,\mu\right) \ge \varepsilon\right\}\right| \ge \frac{h_{r}}{h_{r}} \frac{1}{h_{r}} \left|\left\{k \in I_{r}^{r} : 1-\alpha\left(\frac{x_{k}}{y_{k}}-\lambda,\mu\right) \ge \varepsilon\right\}\right| \ge q \frac{1}{h_{r}} \left|\left\{k \in I_{r}^{r} : 1-\alpha\left(\frac{x_{k}}{y_{k}}-\lambda,\mu\right) \ge \varepsilon\right\}\right| \ge c \text{ or } \beta\left(\frac{x_{k}}{y_{k}}-\lambda,\mu\right) \ge \varepsilon \text{ or } \beta\left(\frac{x_{k}}{y_{k}}-\lambda,\mu\right) \le \varepsilon \text{ or } \beta\left(\frac{x$$

Copyrights @Kalahari Journals

International Journal of Mechanical Engineering 7224

$$\beta\left(\frac{x_{k}}{y_{k}}-\lambda,\mu\right)\geq\varepsilon\right)\left| \text{ which implies} \\ \frac{1}{h_{r}^{'}}\left|\left\{k\in I_{r}^{'}:1-\alpha\left(\frac{x_{k}}{y_{k}}-\lambda,\mu\right)\geq\varepsilon\text{ or }\beta\left(\frac{x_{k}}{y_{k}}-\lambda,\mu\right)\geq\varepsilon\right\}\right|\leq\frac{1}{q}\frac{1}{h_{r}}\left|\left\{k\in I_{r}^{'}:1-\alpha\left(\frac{x_{k}}{y_{k}}-\lambda,\mu\right)\geq\varepsilon\text{ or }\beta\left(\frac{x_{k}}{y_{k}}-\lambda,\mu\right)\geq\varepsilon\text{ or }\beta\left(\frac{x_{k}}{y_{k}}-\lambda,\mu\right)\geq\varepsilon\right\}\right|=0.$$
  
$$\beta\left(\frac{x_{k}}{y_{k}}-\lambda,\mu\right)\geq\varepsilon\text{ or }\beta\left(\frac{x_{k}}{y_{k}}-\lambda,\mu\right)\geq\varepsilon\text{ or }\beta\left(\frac{x_{k}}{y_{k}}-\lambda,\mu\right)\geq\varepsilon\right\}=0.$$
  
$$\beta\left(\frac{x_{k}}{y_{k}}-\lambda,\mu\right)\geq\varepsilon\text{ or }\beta\left(\frac{x_{k}}{y_{k}}-\lambda,\mu\right)\geq\varepsilon\text{ or }\beta\left(\frac{x_{k}}{y_{k}}-\lambda,\mu\right)\geq\varepsilon\right\}=0.$$

Thus theorem is established.

## **Conclusion :**

Our work extends the ideas of statistical convergence and lacunary statistically convergence to asymptotic statistical convergence, asymptotic lacunary statistically convergence and strongly asymptotic lacunary statistically convergence in Intuitionistic fuzzy normed space which are more general and geometrically sound in study. Our results are also analogus of results discussed in [6, 7] by R. Patterson & E. Savas.

## **Acknowledgement :**

Authors want to thanks Editorial team & refrees for their valuable comments after review to improve the quality of article.

## References

- [1] H.Fast, Sur la convergence statistique, Collog. Math.2(1951),241-244.
- [2] R. Patterson and E. Savas, Lacunary statistical convergence of double sequences, Mathematical Communication, **10** (2005), 55-61.
- [3] Fridy, On statistical convergence, Analysis, 5(1985), 301-313.
- [4] Fridy and Orhan, Lacunary statistical convergent, Pacific J. Math, 160(1993), 43-51.
- [5] S. Karkaus, K. Demiric, O. Duman, Statistical convergence on Intuitionistic fuzzy normed spaces, chaos solitons and fractals, **35**(2008), 763-769.
- [6] R.F Patterson, On asymptotically statistical equivalent sequences, Demonstratio Mathematica, 36(2003), 149-153.
- [7] R.F Patterson and E. Savas, On asymptotically lacunary statistically equivalent sequences, Thai journal of Mathematics, 4(2006), 267-272.
- [8] M.Mursaleen, S.A Mohiuddin, On lacunary statistical convergence with respect to the intuitionistic fuzzy normed space, Journal of Compu. and Applied mathematics, **233**(2009), 142-149.
- [9] Ulusu and Nuray, On asymptotically lacunary statistical equivalent set sequences, Hindwai, 2013(2013),1-5.
- [10] G. Jager, Fuzzy uniform convergence and equicontinuity, Fuzzy Sets Syst, 109 (2000), 187-198.
- [11] K.Wu, Convergence of fuzzy sets based on decomposition theory and polynomial function, Fuzzy Sets Syst, **109** (2000), 173-185.
- [12] GA. Anastassiou, Fuzzy approximation by fuzzy convolution type operators., Comput Math Appl, 48 (2004), 1369-1386.
- [13] Naschie, A review of E-infinity theory and the mass spectrum of high energy particle physics, Chaos, Solitons Fractals, 19 (2004), 209-236.
- [14] Kostyrko, Salat and Wilczynski, I-convergence, Real Analysis Exchange, 26 (2000), 669-686.
- [15] Salat, Tripathy and Ziman, On some properties of I-convergence, Tatra Mountains Mathematical Publications, 28 (2004).
- [16] Das, Kostyrko and Wilzynski, I and I\* convergence of double sequences, Mathematica Slovaca, 58 (2008), 605-620.
- [17] Karmosil and Michalek, Fuzzy metric and statistical metric spaces, Kybernetica, 11 (1975), 333-344.
- [18] R. Saadati and J.H Park, On the intuitionistic fuzzy topological spaces, Chaos, Solitons Fractals, 27 (2006), 314-344.

Copyrights @Kalahari Journals